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QUESTION 1

Which iterative DO statement is invalid? 

A. Do 100 to 1200 by 100; 

B. Do num = 1.1 to 1.9 by 0.1; 

C. Do year = 2000 to 2016 by 2; 

D. Do reverse = 10 to 1 by -1; 

Correct Answer: A 

 

QUESTION 2

Given the display of the CITIES data set: 

Which program creates the PROC PRINT report below? 

A. proc print data=cities showlabelse; label Name= \\' Employee Name City =Birth City 

B. proc print data-cities label noobs; label Name=\\'Employee Name\\' City=\\' Birth City\\' ; run; 

C. proc print data=cities ; Name=\\' Employee Name\\' ; City=\\'Birth City\\'; run; 

D. options noobs labels; proc print data=cities; display Name=\\' Employee Name* city=\\'Birth City\\', run; 

Correct Answer: C 

 

QUESTION 3
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Which PROC MEANS program creates the report below? 

A. proc means data-sashelp. shoes sum mean; var Sales; Class Product; 

run; 

B. proc means data=sashelp. \\'shoes var Sale; group Product; run/ 

C. Pror moans data-uashelp . shoes sum mean nobe; by sales; class product 

D. proc means data-esea= ashelp. shoes. sum Salad; mean Sales; by product; run." 

Correct Answer: A 

 

QUESTION 4

Which statement is true regarding the XLSX engine in the LIBNAME statement? 

A. The individual worksheets are automatically concatenated when reading a Microsoft Excel workbook. 

B. The XLSX engine can road and write data in Microsoft Excel workbooks. 

C. The XLSX engine can road Microsoft workbooks with both XLSX and XLS extensions 

D. The XLSX extension in the Microsoft Excel workbook name is optional in the LIBNAME statement 

Correct Answer: A 

 

QUESTION 5

Given the input data set WORK.RUN: 

Given the following DATA step: 
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What is the correct output data set WORK.RUN2? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 
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